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4 AFmIERERER

SRy SEATEFE S (cm) TE AT RFER 2K Et(cm) BEL TEEE(mm) LROEE (EED FAAER(mm)
ALy b b6.5 £ 1.6 25.3 + 0.7 99.8 =+ 1.1 46.2 = 1.0 146 = 0.5 11.0 = 0.4 719 £ 6.7
A7 LA b4 7 £ 0.8 24.3 + 0.3 113.8 = 2.4 446 = 0.8 121 = 0.2 10.8 = 0.4 65.7 £ 2.2
A hA4A7 56.3 £ 0.8 29.2 + 0.4 104.8 = 1.0 55.4 £ 0.4 178 = 1.2 10.0 =« 0.3 924 £ 2.7
A L— 55.7 + 1.6 25.7 + 0.8 110.0 = 1.4 50.2 + 1.0 13.6 + 0.3 154 = 0.5 77.9 + 3.5
A= 53.5 + 1.1 28.0 + 0.6 106.0 = 2.8 53.8 + 0.8 11.5 + 0.2 16.6 = 0.8 61.1 + 4.1
A4 o0I7 8.7 £ 1.5 27.5 + 0.5 107.4 = 1.5 493 £ 1.0 121 = 0.2 120 = 0.6 716 £ 2.9
A< A 51.2 £ 2.1 22.7 + 0.6 99.8 £ 2.0 438 = 0.3 134 £ 0.2 11.2 =« 0.2 68.8 £ 1.2
A4y 61.8 £ 0.7 31.2 + 0.4 119.2 = 0.7 54.0 + 1.4 14.7 + 0.5 16.8 =+ 1.3 87.3 + 3.3
AL Th 51.0 =« 1.7 20.8 + 0.6 108.4 = 1.3 39.4 = 0.7 14.6 + 0.4 13.0 = 0.9 6l1.6 = 4.8
A FILET 57.7 + 15 24.0 * 1.0 115.2 =+ 1.0 45.2 + 0.7 11.4 + 0.3 11.6 = 0.7 60.7 + 2.6
R B I 65.0 £ 1.2 28.3 + 0.7 1114 = 0.8 43.4 = 1.2 139 =+ 0.3 114 = 1.0 107.1 = 12.1
AT/ 63.8 £ 0.4 27.5 + 0.7 121.8 =+ 1.5 526 % 0.9 141 £ 0.3 156 =« 1.6 76.7 £ 3.3
A T7A4L 56.2 + 0.5 22.2 + 0.5 111.4 = 1.1 42.2 + 0.3 10.6 + 0.1 13.8 =« 0.5 35.2 + 2.4
AL TT R 61.0 = 2.1 25.6 + 0.6 110.0 = 1.5 48.0 + 0.9 10.5 + 0.2 144 = 0.8 69.8 £ 4.0
AT 65.7 £ 1.6 23.0 + 0.7 120.0 = 2.0 454 = 1.4 122 =+ 0.2 124 = 1.1 50.9 £ 3.3

miE4 BMIREERE(C Ty L= () 80cmiAELE (g) HERZK(H) EIpeA=ES (=) A% (BRE/EEAR)
ALy b 30.0 £ 1.4 104.0 + 4.9 90.4 £ 3.4 93.0 = 0.0 53.0 = 0.0 0% 0/101
A7 LA 33.0 =« 1.8 103.0 + 5.1 80.4 = 3.8 95.0 = 0.0 5.0 =« 0.0 0% 0/101
R 40.0 = 1.4 78.2 + 2.6 67.4 = 1.8 93.0 = 0.0 53.0 = 0.0 2% 2/100
AU L— 28.0 £ 1.1 104.0 + 4.8 90.0 =« 3.9 93.0 = 0.0 53.0 =« 0.0 28% 24/85
A1) = 36.0 £ 1.7 81.2 + 3.7 65.0 £ 3.5 95.0 = 0.0 55.0 = 0.0 0% 0/102
A7V I7 31.6 £ 0.8 67.6 + 3.6 5.7 % 3.3 86.0 = 0.0 46.0 = 0.0 0% 0/101
AT HF 340 =« 1.7 79.6 + 5.3 68.0 = 3.6 93.0 = 0.0 53.0 =« 0.0 10% 10/100
L AV 33.0 £ 1.1 128.8 * 11.1 104.0 = 11.1 93.0 + 0.0 53.0 + 0.0 0% 0/100
AL ThH 244 £ 1.3 93.4 + 7.1 80.4 = 6.8 90.0 = 0.0 50.0 =« 0.0 0% 0/101
AFILET 31.0 =« 0.9 85.0 + 4.1 65.6 £ 2.9 93.0 = 0.0 53.0 = 0.0 0% 0/103
R B I 320 =« 3.0 102.0 + 9.9 84.8 = 7.8 95.0 = 0.0 5.0 =« 0.0 2% 2/103
AT/ 29.0 =« 0.9 97.0 + 5.1 77.2 £ 4.9 93.0 = 0.0 53.0 = 0.0 0% 0/102
A T7AL 240 £ 2.2 74.6 + 1.3 60.2 £ 0.5 101.0 = 0.0 61.0 = 0.0 0% 0/103
AL T TR 280 £ 1.1 89.6 + 2.6 69.8 £ 2.7 93.0 = 0.0 53.0 =« 0.0 0% 0/52
AT 33.0 £ 1.1 92.6 + 8.0 70.2 £ 5.5 95.0 = 0.0 55.0 = 0.0 61% 63/104
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4. FRAE SRR A SR

miE4 HITRFE S (cm)  JEXTRFEIEK B (cm) HEHNEREL EER(mm) LROKEE B R (mm)
ALy W 402 + 0.6 19.2 = 0.3 109.3 + 1.1 29.0 = 0.7 13.3 £ 0.8%1 65 + 0.3 1269 + 45
LA T7LAW 36.6 * 0.3 17.8 = 05 989 * 9.3 229 * 0.5 231 = 1.7%? 81 + 0.4 1135 + 47
A hAFW 339 = 0.5 215 * 0.4 100.3 * 1.2 289 * 0.3 50.4 + 0.6 74 + 03 1417 = 2.8
A L=Y 35.8 * 0.8 17.8 = 0.3 1055 * 0.5 228 + 0.4 51.1 * 0.7 83 = 0.6 1089 = 35
LAY IZY 339 + 05 21.2 + 0.3 103.1 * 05 28.1 + 0.4 486 *+ 1.9 12.8 + 05 91.9 + 19
Ao UITY 36.2 + 0.7 212 £ 0.2 103.2 + 1.0 245 + 0.3 50.2 £ 2.5 83 = 0.4 1133 £ 4.0
A TF Y 29.6 £ 0.9 16.4 + 0.3 101.7 + 1.1 29.4 + 0.7 458 + (.9%2 8.7 + 0.4 97.2 + 6.8
AU VY 36.4 * 0.8 219 £ 04 1234 = 0.9 434 + 1.4 10.7 = 0.6%1 105 * 0.5 65.7 * 10.9
AL HP 326 + 1.1 18.1 = 0.3 98.7 + 0.5 17.7 = 0.2 52.2 + 0.7 9.2 + 0.3 721 + 24
LA FILETP 349 £ 05 19.6 = 0.4 109.3 = 0.7 217 £ 0.2 509 = 1.1 9.3 + 0.4 93.0 = 29
A URILP 379 + 0.9 22.1 + 0.3 103.7 + 0.6 216 + 0.8 29.0 = 4.1%3 86 + 0.5 1147 + 59
A TILIP 36.6 £ 0.9 219 + 0.3 99.7 + 04 249 * 05 380 + 1.0 129 £ 0.7 772 £ 12
474 LDP 306 = 0.5 16.6 = 0.3 89.9 + 1.3 247 £ 0.4 413 + 0.4%2 134 + 06 51.7 + 2.4
AL 7T R0 36.7 + 0.8 19.4 = 0.4 1135 * 05 275 * 0.6 50.8 + 0.7 9.8 + 0.5 1229 + 6.3
£ A/XI TSP 36.0 + 1.2 195 = 0.4 1214 = 1.0 23.7 + 0.6 50.3 * 1.5 12.8 + 0.9 76.4 + 25
RiEZ BARELEAEC ) YRS (9 80cmFAEE(g)  MIEAH EI PSR URANE (SIARE AR/ TE (T AL
ALy FW 276 = 1.2 744 + 3.7 522 + 2.7 95.0 * 62.0 £ 0 8% (8/100)
TATLAW 320 = 1.2 719 + 38 50.6 £ 2.8 95.0 + 62.0 = 0 15% (15/100)

A HhAZW 39.8 + 1.6 62.2 + 3.8 470 = 25 95.0 * 62.0 + 3% (3/100)

AU LY 176 + 1.1 707 £ 4.0 49.7 + 33 89.0 + 0.8 56.0 * 0.8 2% (2/100)

AU IZY 38.0 * 0.8 69.0 * 3.9 473 = 2.4 91.0 * 0 58.0 * 0 2% (2/100)

A7 UITY 352 = 1.2 60.1 * 3.8 437 * 2.7 824 + 0.6 49.4 = 0.6 5% (5/100)

A TF Y 255 + 0.9 53.6 + 3.7 403 = 2.9 95.0 * 0 62.0 £ 0 5% (5/100)

AU VY 241 = 2.1 844 + 53 55.8 = 3.4 95.0 = 0 62.0 £ 0 0% (0/100)

AL TAHP 227 £ 1.2 65.4 + 2.3 521 + 1.8 788 * 0.3 458 * 0.3 0% (0/100)

A FILETP 31.1 £ 1.7 748 + 34 50.8 + 2.6 885 * 0.8 55.5 + 0.8 2% (2/100)

A ) FILP 274 + 10 843 * 59 63.4 + 4.6 95.0 + 0 62.0 = 0 7% (7/100)

A TI/P 400 £ 1.8 783 + 28 60.5 + 2.4 84.4 % 0.3 51.4 * 0.3 0% (0/100)

A 74 LDP 249 + 13 51.7 * 35 432 = 238 95.0 = 0 62.0 = 0 17% (17/100)

LA L7 T72R0 235 * 1.9 76.8 + 5.8 549 * 4.3 922 * 0.6 59.2 * 0.6 10% (5/50)

£ A/XI TSP 287 = 1.1 865 * 6.1 58.3 * 4.3 86.1 = 1.0 53.1 + 1.0 7% (7/100)
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